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H28 HARIE | BEANERELE 14 [ AT A%
1A 12A -5.91 M/ H27.8~H27.10
13A -6.06 m/m 21,200 @+,
28 12A —-6.16 F/m H27.9~H27.11
13A -6.32 m/m 20,930 @+,
3 12A —-6.74 F/m H27.10~H27.12
R 13A -6.92 m/m 20,170 -,
48 12A -7.66 A/m H27.11~H28.1
13A -7.85 m/m 19,080 [+,
58 12A -8.57 A/m H27.12~H28.2
13A -8.79 m/m 18,060 [+,
68 12A -9.82 A/m H28.1~H28.3
13A -10.07 m/m 16,540 [+,
78 12A -10.90 m/m H28.2~H28.4 X HRiE Hh 15
13A -11.18 f/m 15,250 o+, = ANET (R ERTERR)
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8h 12A -12.15 m/m H28.3~H28.5 EEETERR
13A -12.46 f/m 13,700 -, A5MY 13A EB-AEMRER
98 12A -13.23 A/m H28.4~H28.6 ND—E}
13A -13.57 M/m 12,450 m,+,
105 FAzAA 343 M/ H28.5~H28.7
13A -3.57 m/m 34,490 -,
11 PEIRA 26  am H28.6-H268 X10A18H &Y ARORELEIHL ., HED
13A -3.08 m/m 35,090 [, - 41.8605MJ(12A)i’¢!|Z’&43.4MJ(§J§I¥7J“7\)aiEIZ~
128 FREHA -1.95 M/ H28.7~H28.9 %@A%J_(J 3A) UK #45MJ (13A) IR A EZEL
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(m) = = | ASBEEHE | 2ASEAHE| EEHEANSE
FERA ~19 810.00 137.27 138.28 140.23
FERB ~168 1,004.40 127.21 128.22 130.17
HERC 169~ 3,011.04 115.32 116.33 118.28




HEHTHER FREHBEYE) (45MUHhX - |H43.12MUX)

(FRiA )
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(m) = - NMBREBEMAPE|12B0EMAHE]| BREHEMAHE
HERA ~18 810.00 142.33 143.38 145.41
#E KB ~162 1,004.40 131.88 132.93 134.96
#ERC 163~ 3,011.04 119.56 120.61 122.64
RERATHEREQOCRERIGE (FiA
C —rme L B "
43 AMJH X 35m 5,456 [ 5,492 A +36 [
45M U [X 33m 5,356 M 5,391 M +35 M
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BHERHBEAOEESE (12A%5)

SEHRAHEEOEE
LNGF ¥ i & 35,540 A/t X 0.9771
+ LPGF (i 35,580 A/t X 0.0474
36,412.626 M/t
l (10AKRHMEERA)
36,410 A/t

"FEHEBEZEDHEOFEE (BEFHFRMMEE 38910 A/t HhoDEEEE)

36,410 M/t - 38,910 H/t = -2,500 M/t
! (100K FHYIYIET)
-2,500 A/t

CHAHESRAREOET (43.4MIHR)

-2500 FH/t = 100 x 0072 x (1 + HEHRK) = -19440 H
) (NSRBI UTEI L)
-1.95 A

B SRREOETE (45MUHR)

-2500 FH/t = 100 x 0075 x (1 + HEHRK) = -20250 H
! (N A ESUTEI L)
-2.03 A



